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Correction of the Exam

Task 01: Identify the figures of speech used in each sentence below: (05 pts)
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| desired my dust to be mingled with yours. ( Hyperbole)
Your hands are as clean as mud. (Irony)

Earth was thirsty for water. (Personification)

Your backyard is a Garden of Eden. ( Allusion)

This is an open secret. (oxymoron)

Task 02: Put the verbs in brackets into the right tense: (04 pts)
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My sister was waliting for me at the airport when | arrived.

There was no sign of a taxi although I had ordered it half an hour before.
You can have that magazine. | have finished with it.

What’s that smell? It’s in the kitchen. Something is burning

| wish my brother hadn’t given up.
Lily is reading a really great book.

I was working in the garden all day.
By the time the police appeared, the burglar had run

Task 03: Combine the following sentences using the linkers between brackets: (04 pts)

Thanks to her audacity, Liza always gets what she wants.

The job market is more competitive than ever these days; as consequence, school leavers are
being encouraged to continue their education. The job market is more competitive than ever
these days.

Grandma is so deaf that she cannot hear what you say.

As inscription was low, the school was closed down.

Task 04: Written expression (07pts)

Form: (1.5 pts)

Content: (02 pts)

Two expressions of agreement and disagreement. (01 pts)
Three relative pronouns. (1.5 pts)

Two figures of speech. (01 pts)
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